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QUESTION 1

Consider the program code in the attached exhibit. 

What is the result of executing this program code? 

A. The code will output the following: 50 

B. The code will output the following: 0 

C. The code will output the following: 5 

D. The code will output the following: multiply(5, 10) 

Correct Answer: B 

 

QUESTION 2

Assume $sth is a valid statement handle. Which of the following correctly outputs the data from the first three columns
of a result set? 

A. while(@rcrds = $sth->fetch_array) { print($rcrds[0]\n); print($rcrds[1]\n); print($rcrds[2]\n); } 

B. while(@rcrds = $sth->fetch_array) { print($rcrds[1]\n ); print($rcrds[2]\n); print($rcrds[3]\n); } 

C. while(@rcrds = $sth->fetchrow_array) { print($rcrds[1]\n ); print($rcrds[2]\n); print($rcrds[3]\n); } 

D. while(@rcrds = $sth->fetchrow_array) { print($rcrds[0]\n ); print($rcrds[1]\n); print($rcrds[2]\n); } 

Correct Answer: D 

 

QUESTION 3

Consider the following program code: 

$x = 5; 

$y = 10; 
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while (++$x 

{ 

print ($x $y ); 

} 

print ($x $y ); 

What is the result of executing this program code? 

A. The code will output the following: 6 11 7 12 8 13 9 14 10 15 

B. The code will output the following: 6 11 7 12 8 13 9 14 10 14 

C. The code will output the following: 5 10 6 11 7 12 8 13 9 13 

D. The code will output the following: 5 10 6 11 7 12 8 13 9 14 

Correct Answer: B 

 

QUESTION 4

Consider the following program code: 

$x = 10; 

LOOP: while ($x 

{ 

print ($x ); 

if ($x >= 14 andand $x
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